[image: ]Bruchteile von Größen IV

Beispiel:  von __ = 15 ml
          15 · 3 : 1 = 45
           von 45 ml = 15 ml

1                         1                         1
— von __ kg = 8 kg        — von __ ml = 6 ml        — von __ cm = 3 cm
7                         7                         8


1                         1                         1
— von __ t  = 7 t         — von __ g  = 7 g         — von __ m² = 7 m²
5                         3                         4 


1                         1                         1
— von __ cm³ = 6 cm³      — von __ hl = 5 hl        — von __ mg = 6 mg
5                         5                         8


1                         1                         1 
— von __ mg = 7 mg        — von __ €  = 5 €         — von __ ct = 8 ct 
7                         8                         9


1                         1                         1
— von __ km = 9 km        — von __ mm = 5 mm        — von __ dm² = 7 dm²
3                         8                         5


1                         1                         1
— von __ dm² = 7 dm²      — von __ cm³ = 3 cm³      — von __ ml = 8 ml
8                         3                         6


1                         1                         1
— von __ € = 3 €          — von __ kg = 5 kg        — von __ t = 7 t
8                         7                         5


1                         1                         1
— von __ cm = 3 cm        — von __ m = 5 m          — von __ mm = 8 mm
7                         8                         4


1                         1                         1
— von __ dm³ = 4 dm³      — von __ m² = 6 m²        — von __ ct = 8 ct
8                         6                         9


1                         1                         1
[bookmark: _GoBack]— von __ km = 7 km        — von __ dm = 6 dm        — von __ t = 3 t
8                         7                         8
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